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1. S S AAY T 270,095 215,749 54,346
1. SR S-S A Y= 270,095 215,749 54,346
1.8t godu) A= 250,623 174,493  85.130 _ﬁﬂﬂ%&%ﬂ]ﬂ% © 169,896,000 * 1703 159896000
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2. 5 XA u A G = 10,472 41,256 -30,784 WX 1 8,255,0009 * 17]3L = 8,255,000
STAFEAR A Y 1,083,0009 * 170 = 1,083,000
A=A D ¢ 1,134,0009 * 170 = 1,134,000
2. AA 4 23,829 18,680 5,149
1.3 3 R gka=g) 21,879 17,780 4,099
‘ 1At g4y 21,879 17,780 4,099
1,540 21,879 17,780 4,099
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‘ 271848 &5 1,850 660 1,190
1.0l 354 1,500 520 980
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1.AAY = 3,000 3,300 -300
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LaeAAd o= 3,000 3,300 -300| 251 €T : 3,000,000 %13]= 3,000,000
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